



# Overview

## Introduction

## Distributed Gradient Descent

- Convergence Error

- Objective Gap

- Discussion

## Gradient Tracking

- Discussion



















































# Proof of Convergence

## Lemma

Fix two constants  $\sigma \in (0, 1)$  and  $\beta > 0$ . We have

$$\lim_{n \rightarrow \infty} (1 - \sigma)n^\beta \sum_{\tau=1}^n \frac{\sigma^{n-\tau}}{\tau^\beta} = 1.$$

Thus, the series  $\sum_{\tau=1}^n \frac{\sigma^{n-\tau}}{\tau^\beta}$  converges to 0 at a rate  $\mathcal{O}(n^{-\beta})$  as  $n \rightarrow \infty$ .

# Proof of Convergence II

We first write

$$(1 - \sigma)n^\beta \sum_{\tau=1}^n \frac{\sigma^{n-\tau}}{\tau^\beta} = \left( \frac{1}{(1 - \sigma)n^\beta \sigma^n} \right)^{-1} \sum_{\tau=1}^n \frac{\sigma^{-\tau}}{\tau^\beta}.$$

and then define two new sequences

$$a_n = \sum_{\tau=1}^n \frac{\sigma^{-\tau}}{\tau^\beta}, \quad b_n = \frac{1}{(1 - \sigma)n^\beta \sigma^n}.$$

Since  $0 < \sigma < 1$ , we know  $b_n$  is monotonically increasing and  $\lim_{n \rightarrow \infty} b_n = \infty$ .

## Proof of Convergence III

In addition, it is easy to verify that

$$a_{n+1} - a_n = \frac{\sigma^{-n-1}}{(n+1)^\beta}$$

and

$$\begin{aligned} b_{n+1} - b_n &= \frac{1}{(1-\sigma)(n+1)^\beta \sigma^{n+1}} - \frac{1}{(1-\sigma)n^\beta \sigma^n} \\ &= \frac{n^\beta - \sigma(n+1)^\beta}{\sigma^{n+1}(1-\sigma)n^\beta(n+1)^\beta}. \end{aligned}$$

Thus, we can verify that

$$\frac{a_{n+1} - a_n}{b_{n+1} - b_n} = \frac{\frac{\sigma^{-n-1}}{(n+1)^\beta}}{\frac{n^\beta - \sigma(n+1)^\beta}{\sigma^{n+1}(1-\sigma)n^\beta(n+1)^\beta}} = \frac{(1-\sigma)n^\beta}{n^\beta - \sigma(n+1)^\beta} \rightarrow 1.$$

# Proof of Convergence IV

Thus,

$$\frac{a_{n+1} - a_n}{b_{n+1} - b_n} = \frac{\frac{\sigma^{-n-1}}{(n+1)^\beta}}{\frac{n^\beta - \sigma(n+1)^\beta}{\sigma^{n+1}(1-\sigma)n^\beta(n+1)^\beta}} = \frac{(1-\sigma)n^\beta}{n^\beta - \sigma(n+1)^\beta} \rightarrow 1.$$

By the Stolz-Cesàro Theorem,

$$\lim_{n \rightarrow \infty} = (1-\sigma)n^\beta \sum_{\tau=1}^n \frac{\sigma^{n-\tau}}{\tau^\beta} = \lim_{n \rightarrow \infty} a_n / b_n = 1$$

This also proves that  $\sum_{\tau=1}^n \frac{\sigma^{n-\tau}}{\tau^\beta} = \Theta(n^{-\beta})$ .

## Another Useful Bound

### Lemma

Suppose there exists  $\delta > 0$  such that  $\|\Delta(t)\| \leq \delta$  for all  $t$ . Let  $\eta_0 \geq \eta_1 \geq \eta_2 \geq \dots$  be a sequence of non-increasing step sizes. Then

$$\sum_{\tau=0}^{t-1} \eta_{\tau} \|E(\tau)\|_F^2 \leq \frac{2\eta_0 \|E(0)\|_F^2}{1 - \sigma^2} + \frac{4\delta^2}{(1 - \sigma^2)^2} \sum_{\tau=0}^{t-2} \eta_{\tau}^3.$$

# Proof

By induction, we can derive from the earlier recursion that

$$\begin{aligned}\|E(t+1)\|_F^2 &\leq \left(1 + \frac{1-\sigma^2}{2\sigma^2}\right) \sigma^2 \|E(t)\|_F^2 + \left(1 + \frac{2\sigma^2}{1-\sigma^2}\right) \eta_t^2 \delta^2 \\ &\leq \frac{1+\sigma^2}{2} \|E(t)\|_F^2 + \frac{2\delta^2}{1-\sigma^2} \eta_t^2,\end{aligned}$$

where we used the inequality

$$\|u + v\|^2 \leq (1 + \varepsilon) \|u\|^2 + (1 + \varepsilon^{-1}) \|v\|^2$$

for any  $\varepsilon > 0$ .

## Proof II

Consequently,

$$\begin{aligned} \sum_{\tau=0}^{t-1} \eta_{\tau} \|E(\tau)\|_F^2 &\leq \sum_{\tau=0}^{t-1} \eta_{\tau} \left(\frac{1+\sigma^2}{2}\right)^{\tau} \|E(0)\|_F^2 \\ &\quad + \frac{2\delta^2}{1-\sigma^2} \sum_{\tau=0}^{t-1} \sum_{s=0}^{\tau-1} \left(\frac{1+\sigma^2}{2}\right)^{\tau-1-s} \eta_{\tau} \eta_s^2. \end{aligned}$$

Now for the first term on the right-hand side, we have

$$\begin{aligned} \sum_{\tau=0}^{t-1} \eta_{\tau} \left(\frac{1+\sigma^2}{2}\right)^{\tau} \|E(0)\|_F^2 &\leq \eta_0 \|E(0)\|_F^2 \sum_{\tau=0}^{t-1} \left(\frac{1+\sigma^2}{2}\right)^{\tau} \\ &\leq \frac{2\eta_0 \|E(0)\|_F^2}{1-\sigma^2}, \end{aligned}$$

## Proof III

To bound the second term, we can interchange the double sum to get

$$\begin{aligned} \sum_{\tau=0}^{t-1} \sum_{s=0}^{\tau-1} \left( \frac{1+\sigma^2}{2} \right)^{\tau-1-s} \eta_{\tau} \eta_s^2 &\leq \sum_{s=0}^{t-2} \eta_s^2 \sum_{\tau=s+1}^{t-1} \left( \frac{1+\sigma^2}{2} \right)^{\tau-1-s} \eta_{\tau} \\ &\leq \frac{2}{1-\sigma^2} \sum_{s=0}^{t-2} \eta_s^3. \end{aligned}$$

Therefore,

$$\sum_{\tau=0}^{t-1} \eta_{\tau} \|E(\tau)\|_F^2 \leq \frac{2\eta_0 \|E(0)\|_F^2}{1-\sigma^2} + \frac{4\delta^2}{(1-\sigma^2)^2} \sum_{s=0}^{t-2} \eta_s^3.$$



# First Observations

Notice that

$$\bar{x}(t+1) = \bar{x}(t) - \eta_t \bar{g}(t) \quad (2.2)$$

Since  $\bar{g}(t) = \frac{1}{N} \sum_{k=1}^N \nabla f_i(x_i(t))$ , we expect that if  $E(t)$  is small, then the “residual”

$$\bar{g}(t) - \frac{1}{N} \sum_{k=1}^N \nabla f_i(\bar{x}(t)) = \frac{1}{N} \sum_{k=1}^N \left( \nabla f_i(x_i(t)) - \nabla f_i(\bar{x}(t)) \right)$$

should be small.

# First Observations

Notice that

$$\bar{x}(t+1) = \bar{x}(t) - \eta_t \bar{g}(t) \quad (2.2)$$

Since  $\bar{g}(t) = \frac{1}{N} \sum_{k=1}^N \nabla f_i(x_i(t))$ , we expect that if  $E(t)$  is small, then the “residual”

$$\bar{g}(t) - \frac{1}{N} \sum_{k=1}^N \nabla f_i(\bar{x}(t)) = \frac{1}{N} \sum_{k=1}^N \left( \nabla f_i(x_i(t)) - \nabla f_i(\bar{x}(t)) \right)$$

should be small.

- ▶ This inexactness property is common in distributed algorithms

# First Observations

Notice that

$$\bar{x}(t+1) = \bar{x}(t) - \eta_t \bar{g}(t) \quad (2.2)$$

Since  $\bar{g}(t) = \frac{1}{N} \sum_{k=1}^N \nabla f_i(x_i(t))$ , we expect that if  $E(t)$  is small, then the “residual”

$$\bar{g}(t) - \frac{1}{N} \sum_{k=1}^N \nabla f_i(\bar{x}(t)) = \frac{1}{N} \sum_{k=1}^N \left( \nabla f_i(x_i(t)) - \nabla f_i(\bar{x}(t)) \right)$$

should be small.

- ▶ This inexactness property is common in distributed algorithms
- ▶ We can only estimate the true gradient at  $\bar{x}(t)$  via some averaging process.

# Proof of Convergence

Note that

$$\begin{aligned}\|\bar{x}(t) - x^*\|^2 &= \|\bar{x}(t+1) + \eta_t \bar{g}(t) - x^*\|^2 \\ &= \|\bar{x}(t+1) - x^*\|^2 + 2\eta_t \langle \bar{g}(t), \bar{x}(t+1) - x^* \rangle + \|\eta_t \bar{g}(t)\|^2\end{aligned}$$

Thus,

$$\begin{aligned}\frac{1}{2}\|\bar{x}(t+1) - x^*\|^2 &= \frac{1}{2}\|\bar{x}(t) - x^*\|^2 \\ &\quad - 2\eta_t \langle \bar{g}(t), \bar{x}(t+1) - x^* \rangle - \eta_t^2 \|\bar{g}(t)\|^2 \\ &= \frac{1}{2}\|\bar{x}(t) - x^*\|^2 + \eta_t \langle \bar{g}(t), x^* - \bar{x}(t+1) \rangle \\ &\quad - \frac{1}{2}\|\bar{x}(t+1) - \bar{x}(t)\|^2.\end{aligned}$$

## Proof of Convergence II

We first bound the inner product term. We have

$$\langle \bar{g}(t), x^* - \bar{x}(t+1) \rangle = \langle \bar{g}(t), x^* - \bar{x}(t) \rangle + \langle \bar{g}(t), \bar{x}(t) - x(t+1) \rangle.$$

For the first term, we can apply the definition of  $\bar{g}(t)$  and the convexity of each  $f_i$  to obtain

$$\begin{aligned} \langle \bar{g}(t), x^* - \bar{x}(t) \rangle &= \frac{1}{N} \sum_{i=1}^N \langle \nabla f_i(x_i(t)), x^* - \bar{x}(t) \rangle \\ &= \frac{1}{N} \sum_{i=1}^N \langle \nabla f_i(x_i(t)), x^* - x_i(t) \rangle \\ &\quad + \frac{1}{N} \sum_{i=1}^N \langle \nabla f_i(x_i(t)), x_i(t) - \bar{x}(t) \rangle \end{aligned}$$





# Proof of Convergence V

For the second term, we use the  $L$ -smoothness of each  $f_i$  to obtain

$$\begin{aligned} f_i(\bar{x}(t+1)) &\leq f_i(x_i(t)) + \langle \nabla f_i(x_i(t)), \bar{x}(t+1) - x_i(t) \rangle \\ &\quad + \frac{L}{2} \|\bar{x}(t+1) - x_i(t)\|^2 \\ &= f_i(x_i(t)) + \langle \nabla f_i(x_i(t)), \bar{x}(t+1) - \bar{x}(t) \rangle \\ &\quad + \langle \nabla f_i(x_i(t)), \bar{x}(t) - x_i(t) \rangle + \frac{L}{2} \|\bar{x}(t+1) - x_i(t)\|^2. \end{aligned}$$



# Proof of Convergence VI

Thus,

$$\begin{aligned} \frac{1}{N} \sum_{i=1}^N f_i(\bar{x}(t+1)) &\leq \frac{1}{N} \sum_{i=1}^N \left( f_i(x_i(t)) + \langle \nabla f_i(x_i(t)), \bar{x}(t+1) - \bar{x}(t) \rangle \right. \\ &\quad \left. + \langle \nabla f_i(x_i(t)), \bar{x}(t) - x_i(t) \rangle \right. \\ &\quad \left. + \frac{L}{2} \|\bar{x}(t+1) - x_i(t)\|^2 \right) \\ &= \hat{f}(X(t)) + \langle \bar{g}(t), \bar{x}(t+1) - \bar{x}(t) \rangle \\ &\quad + \frac{L}{2N} \sum_{i=1}^N \|\bar{x}(t+1) - x_i(t)\|^2 \end{aligned}$$

## Proof of Convergence VII

Using the fact that  $\|x + y\|^2 \leq 2\|x\|^2 + 2\|y\|^2$ .

$$\begin{aligned} \frac{1}{N} \sum_{i=1}^N f_i(\bar{x}(t+1)) &\leq \hat{f}(X(t)) + \langle \bar{g}(t), \bar{x}(t+1) - \bar{x}(t) \rangle \\ &\quad + \frac{L}{2N} \sum_{i=1}^N \|\bar{x}(t+1) - x_i(t)\|^2 \\ &\leq \hat{f}(X(t)) + \langle \bar{g}(t), \bar{x}(t+1) - \bar{x}(t) \rangle \\ &\quad + L\|\bar{x}(t+1) - \bar{x}(t)\|^2 + \frac{L}{N} \sum_{i=1}^N \|\bar{x}(t) - x_i(t)\|^2 \\ &= \hat{f}(X(t)) + \langle \bar{g}(t), \bar{x}(t+1) - \bar{x}(t) \rangle \\ &\quad + L\|\bar{x}(t+1) - \bar{x}(t)\|^2 + \frac{L}{N} \|E(t)\|_F^2. \end{aligned}$$

## Proof of Convergence VIII

Thus, combining the two bounds gives

$$\begin{aligned}\langle \bar{g}(t), x^* - \bar{x}(t+1) \rangle &= \langle \bar{g}(t), x^* - \bar{x}(t) \rangle + \langle \bar{g}(t), \bar{x}(t) - x(t+1) \rangle \\ &\leq \left( f(x^*) - \hat{f}(X(t)) \right) \\ &\quad + \left( \hat{f}(X(t)) - f(\bar{x}(t+1)) + L\|\bar{x}(t+1) \right. \\ &\quad \left. - \bar{x}(t)\|^2 + \frac{L}{N}\|E(t)\|_F^2 \right) \\ &= f(x^*) - f(\bar{x}(t+1)) + L\|\bar{x}(t+1) - \bar{x}(t)\|^2 \\ &\quad + \frac{L}{N}\|E(t)\|_F^2.\end{aligned}$$

# Proof of Convergence IX

Substitution into the original equality gives

$$\begin{aligned} \eta_t (f(\bar{x}(t+1)) - f(x^*)) &\leq \frac{1}{2} \|\bar{x}(t) - x^*\|^2 \\ &\quad - \frac{1}{2} \|\bar{x}(t+1) - x^*\|^2 - \frac{1}{2} \|\bar{x}(t+1) - \bar{x}(t)\|^2 \\ &\quad + \eta_t L \|\bar{x}(t+1) - \bar{x}(t)\|^2 + \frac{\eta_t L}{N} \|E(t)\|_F^2. \end{aligned}$$

# Convergence Theorem for DGD

## Theorem ([2, Lemma 3.2])

Suppose that  $f_1, \dots, f_N$  are all convex and  $L$ -smooth, and there exists  $x^* \in \mathbb{R}^d$  such that  $x^* \in \operatorname{argmin}_{x \in \mathbb{R}^d} \frac{1}{N} \sum_{i=1}^N f_i(x)$ . Consider the DGD algorithm Equation (2.1) such that Equation (2.2) holds and  $\eta_t > 0$  for all  $t$ . Then, we have

$$\frac{\sum_{\tau=1}^t \eta_{\tau-1} (f(\bar{x}(\tau)) - f(x^*))}{\sum_{\tau=1}^t \eta_{\tau-1}} \leq \frac{\|\bar{x}(0) - x^*\|^2}{2 \sum_{\tau=0}^{t-1} \eta_{\tau}} + \frac{L \sum_{\tau=0}^{t-1} \eta_{\tau} \|E(\tau)\|_F^2}{N \sum_{\tau=0}^{t-1} \eta_{\tau}} + \frac{\sum_{\tau=0}^{t-1} \eta_{\tau}^2 (2\eta_{\tau} L - 1) \|\bar{g}(\tau)\|_F^2}{2 \sum_{\tau=0}^{t-1} \eta_{\tau}}.$$

# Constant Step Size Convergence Rate

## Theorem

*For simplicity, suppose every agent starts from the same initial point so that  $E_0 = 0$ . Suppose we choose a constant step size  $\eta_t = \eta \leq 1/L$ . Then*

$$\frac{1}{t} \sum_{\tau=1}^t (f(\bar{x}(\tau)) - f(x^*)) \leq \frac{\|\bar{x}(0) - x^*\|^2}{2\eta t} + \frac{2\eta^2 LG^2}{(1 - \sigma^2)^2},$$

*and*

$$\frac{1}{N} \sum_{i=1}^N \|x_i(t) - \bar{x}(t)\|^2 \leq \frac{\eta^2 G^2}{(1 - \sigma^2)^2}.$$



















































